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https://www.100test.com/kao_ti2020/145/2021 2022 _JAVA _E9 A
2 98 E5 BA 93 c104 145533.htm question 36)which of the
following are java key
wordsl)double2)switch3)then4)instanceofquestion 37)what will be
output by the following line?system.out.printin(math.floor(-2.1)).1)
-22) 2.03) -34) -3.0question 38)given the following main method in
a class called cycle and a command line ofjava cycle one twowhat will
be output?public static void main(string bicycle[]){
system.out.printin(bicycle[0]).}1) none of these options2) cycle3)
one4) twoquestion 39)which of the following statements are true?1)
at the root of the collection hierarchy is a class called collection2) the
collection interface contains a method called enumerator3) the
Interator method returns an instance of the vector class4) the set
interface is designed for unique elements 100Test J O O O 0O O O
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